2 3 | 4 5 | 6 | 7 | 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A __|NEW RELEASE LC 03/02/07° ~ LUIC 03/02/07"
[TEM | PART NAME [ Q'ty | NOTES B_|ADD P/N CODE YCH 12/07/13 ~
1 METAL HOOD 2
2 LONG BOLT 2
3 NUT 2 - NOTES:
y el W1 2 M3*12 1. PART NUMBER CODE:
S ['WASHER . DS1047 — 09 X X X — X — X
6 SCREW=2 2 M3*6 T—L0GO Support
7 SHORT BOLT 2 X: W/0 LOGO
N/A: CONNFLY LOGO
Shell Plating
N: Nickel
Z: Zinc
\ Bolt type
i I L: Long
~ S: Short
@ S Z Packing type
‘ 1: Mix packing
% z o 2: Separation packing
~ g .
Cover Material
© o \ ‘ M: Metal(Znic alloy)
I ﬁ Positions
7_7<> | <€} ] 09: 9pin
‘ 3
) E 135 %, M3 .
R\ES - -
=
WQ.O 5.4
SCREW—1 NUT
E 5\
4-40 UNC \ ;
Q
C ‘ W: 21 Q?_\ 1103.7
;‘ S \ g; .
UNC#4—-40
ﬂ{ 'T‘I ! ‘*’E’
A1
20| | \ 30.5 [
L 35.9
‘ 376 Short BOLT
AT AL IS NN AT SN N
Long BOLT
GENERAL TOLERANCET ANGLE TOLERANCE [PROJECTION | @ o |1mLEl . .
|-RCJECTION - — D—SUB 9piii Metal Hood
X. +0.60 X. 5 Junms [ mm _
X +0.38 20 WS SHEET SIzE | A4 | SERIES | DS1047 CSERIES
XX £0.25 XK 2’ L LR - L L

DRAWING TYPE [COSTOMER = 38 5 H BR = T

SCALE | 14 |SHEET | 1 0F |
DRAWING T‘E_|C:D_S1O47_—O§XX X=X conneLy® CONNFLY ELECTRONIC CO., LTD

x

2 3 4 | 5 6 I 7 I 8



Jacky
New Stamp

Jacky
CONTACT WAY


2 K | 4 5 | 6 | 7 | 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A NEW RELEASE LC 03/02/07° ~_ LIC 03/02/07’
ITEM | PART NAME Q'ty NOTES B |[ADD P/N CODE YCH 12/07/13 ~~
1 METAL HOOD 2
2 BOLT 2
3 NUT 2
4 SCREW—1 2 M3*12
5 | WASHER 2 NOTES:
B | SCREW—2 2 M3*6 1. PART NUMBER CODE:
7 | SR 1 DS1047 — 15 X X X — X — X
T —L0GO Support
39.14 X: W/O LOGO
| N/A: CONNFLY LOGO
Shell Plating
N: Nickel
& Z: Zinc
ol o
o Bolt type
L: Long
Packing type

38.5

1: Mix packing
2: Separation packing

Cover Material
M: Metal(Znic alloy)

Positions

15: 15pin
3
M3
%
N 5.4

2.3
uT

N

|

N, . x
7.7 A 5
COF w38 1210 5
O
N % - - 11.0
12.0 16.2
18.6 -
313'9 SCREW=2 Washer
1= GENERAL TOLZRANCE| ANGLE [OLERANCE SJECTION | & THLE] ¥
T Tk £ PROJECTION | @ €3 |TIE] D-SUE 15pin Metal Hood
o X. +0.60 | x5 UNITS mm
il X £0.38 X &3 SHEET 51z | a4 [SERIZS | DS1047 _SERIES
LI -— XX £0.25 g B 'L
SR DRAWING TYPE [COSTOMER = 333 88 T H BE o T
SCALE 151 [SHEET {1 OF 1
1| 237 o .
DRAWING N0, | ©-Ds1047 1o0vw—x—x | connFLy® CONNFLY ELECTRONIC €O., LTD
2 3 4 | 5 6 ! 7 ! 8



Jacky
New Stamp

Jacky
CONTACT WAY


1 2 3 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE LC 03/02/07° ~— LIC 03/02/07’
BOM LIST B |ADD P/N CODE YCH 12/07/13' ~_
ITEM | PART NAME Q'ty | NOTES
1| METAL HOOD 2
2 | BOLT 2
3 NUT 2 NOTES:
4 | SCREW-1 2 | m3*12 1. PART NUMBER CODE:
| 5 |.WASHER 2 DS1047 — 25 X X X — X — X
[ . ‘ } 6..] SCREW—2 2 [ M3%6 L Loco Support
| |9d’_|1_1 | 7 [ SR W X: W/0 LOGO
08 | N/A: CONNFLY LOGO
Shell Plating
47.04 N: Nickel
Z: Zinc
Bolt type
53.04 L: Long
12 7.3 Packing type
1: Mix packing
1 ) 2: Separation packing
\ Cover Material
& M: Metal(Znic alloy)
E Positions
25: 25pin
n
7
M
1.8 L«
L J
Q
3 2 vl © ~ @ . =
g VAR I
IARAMriNd
ot-H5oat e et ==
6.0 1
] __]UU[_ 54| || 23 5 "A?ﬂ M*S
18.6 NUT SCREW—1 | 24.1
3.9 { 44
3.1 ' _
1 6\ 27 E.QL\
— _ n AL L iyl BINCARSSEY ) AN FW Nl i el | -1
H H 59 ] o GENERAL TOLERANCE| ANGLE TOLERANCE . TITLE
o M3 -2 ) | PROJECTION Jo-aF[Me] | g 25pin Metal Hood
HH H - X. +0.60 X, 5 UNITS MBSl mol | el -
U X +0.38 X U x3 SHEET SIZE = | © A4 SLRIES | DS1047  SERIES
XX +0.25 XX 2
= 97 r—
SR SCREW-2 DRAWING YPZ [COSIONER =3 %8 F A R o3
SCALE 1:1 | SHEET |1 OF 1
® .
DRAWING NO. | C—DS1047-25XXX—-X-X | CORAFLY CONNFLY ELECTRONIC CO., LTD
1 2 3 4 [ 5 6 I 7 I 8



Jacky
New Stamp

Jacky
CONTACT WAY


1 2 3 l 4 5 l 6 l 7 l 8

REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A |NEW RELEASE LC 03/02/07° ~ LJC 03/02/07
ITEM | PART NAME Qty | NOTES B |ADD P/N CODE YCH 12/07/13' ~
7 | METAL HOOD 2
2 | BOLT 2
3 | NUT 2
4 | SCREW—1 2 | M3*12
5 | WASHER 2 NOTES:
6 | SCREW—2 2 | M3*6 1. PART NUMBER CODE:
7 | SR 1 DS1047 — 37 X X X — X — X
TTT T—LOGO Support
X: W/0 LOGO
N/A: CONNFLY LOGO
’—7;3* | Shell Plating
1 : N: Nickel
\ 3 ! Z: Zinc
0 | Bolt type
e A [ t:nnrru ] L: Long
I’« ‘ - Packing type
0 . 1: Mix packing
% I: @ —t— @ 2: Separation packing
% Cover Material
% M: Metal(Znic alloy)
N Positions
| 37: 37pin
N
42.0
50.9
O
| o>
‘ — I
T
\ E
63.5
®
3 | 8
r:ryfh ==ECl]
3 N S\ —— S408 __ Zj e‘ g‘ ™~ § nurlin
— M3 4 135 & \ "R el I N 1| MG AA K NI g = Knurling
M3\ i 3 &\ 1
SRR =} ¢  FIE- . Pl R
- _]-[_]-[.]-[— 5.4 2.3 &/ | : ~ 10 [l o
18.6 NUT SCREW—1 WASHER 24.1
3.9
T 44
—— 6 DO\ T
H 7.7 q
: M3 N2 & [GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECT 101 & -Cc} |TmLEe| -~ T T ]
° g/ | PR?‘JECT'O"—I_@ o [T D-SUB 37pin Metal Hood
L LB X. +0.60 X, . 5 UNRS = | mp | gwg =
SCREW-2 X +0.38 X &3 SHEETSiZE | s4  |SERES |D51047 SERIES
SR XX +0.25 XX 2
= a3 r—
DRAWING TYPE [COSTOMER A 38 5 FH BR o> 3
SCALE 1.1 [SHEET |1 OF 1
DRAWING NO. C—DS1047—-37XXX—=X-X connFLy® CONNFLY ELECTRONIC co" LTD
1 2 3 4 | 5 6 I 7 I 8



Jacky
New Stamp

Jacky
CONTACT WAY


